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Help Robot find Rover.  Color the boxes with odd sums to 
make a path.

16 + 2 = 13 + 1 = 4 + 8 = 11 + 3 = 12 + 8 = 9 + 2 = 5 + 5 = 9 + 9 =

3 + 4 = 17 + 6 = 7 + 2 = 14 + 1 = 2 + 3 = 12 + 9 = 11 + 4 = 9 + 1 = 2 + 10 =

7 + 5 = 18 + 6 = 9 + 1 = 8 + 2 = 11 + 9 = 6 + 8 = 6 + 9 = 5 + 4 = 14 + 4 =

14 + 5 = 15 + 3 = 16 + 6 = 10 + 2 = 1 + 2 = 14 + 3 = 4 + 7 = 5 + 6 = 18 + 8 =

14 + 8 = 9 + 5 = 4 + 2 = 17 + 7 = 3 + 10 = 7 + 4 = 16 + 3 = 6 + 4 = 12 + 8 =

19 + 1 = 11 + 3 = 7 + 1 = 13 + 7 = 7 + 3 = 16 + 2 = 3 + 4 = 15 + 5 = 11 + 5 =

6 + 2 = 8 + 5 = 10 + 1 = 8 + 3 = 16 + 9 = 14 + 7 = 4 + 5 = 5 + 9 = 6 + 6 =

7 + 2 = 12 + 5 = 19 + 5 = 10 + 2 = 2 + 8 = 3 + 1 = 2 + 8 = 18 + 4 = 10 + 7 =

10 + 1 = 1 + 8 = 11 + 2 = 1 + 6 = 19 + 2 = 11 + 8 = 1 + 1 = 15 + 9 = 19 + 1 =

5 + 9 = 4 + 6 = 19 + 7 = 12 + 4 = 1 + 7 = 13 + 6 = 16 + 3 = 10 + 9 =
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
21 1

7
is the sum

3
7
3
7 5 1

75 1
7

4 4
74 4
7

11

20
is the sum

5 1
7 4 4

74 4
7

3

7 2
77 2
7

25 6
7

is the sum

4 4
7 7 2

77 2
7

3

11

3
7

 + 5 1
7

 + 4 4
7

 + 11 4 4
7

 + 7 2
7

 + 3 + 11

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 7 2
7

, 3
7

,  or 1 2
7

.

The other three numbers have to all be DIFFERENT and must be from these: 6, 11, 4 4
7

, 3, or 

5 1
7

.

145 1
75 1
7 1 2

71 2
7

4 4
74 4
7

3

141 2
7 4 4

7

5 1
7

13 1
7

4 4
7

3
7
3
7

3

5 1
7

3
7 4 4

74 4
7

20 6
7

4 4
7 6

7 2
7

22 4
7

5 1
7

3
7

19 4
7

5 1
7

3
7

15 3
7

5 1
7

1 2
71 2
7

26 3
7

11

7 2
7

5 1
7

14

3
7

4 4
74 4
7

5 1
7

3
7

4 4
7

5 1
7 4 4

7

1 2
7
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 8 1
2

, 2 1
2

,  or 6 1
2

.

The other three numbers have to all be DIFFERENT and must be from these: 2, 3 1
2

, 11, or 7.

197 3 1
23 1
2

6 1
26 1
2

2

193 1
2 7

6 1
26 1
2

19 3 1
23 1
2

6 1
2

243 1
2 2 1

2

11

7

26 1
2

6 1
2 26 1

2
6 1

2 23 3 1
2

6 1
2

3 1
2

2 1
2

193 1
2

6 1
2

28 1
2

8 1
2

23 3 1
2

6 1
2

243 1
2 7

2 1
2

28 3 1
2

6 1
2

213 1
2

8 1
2

19

6 1
2

3 1
2

19 3 1
2

2 1
2

303 1
2

8 1
2

28 1
2

8 1
28 1
2

3 1
2 2 1

2
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Write the number for 
one thousand,  sixty-nine.

How many inches are in two 
feet?

8 40

Write a fraction to represent what is shaded. Emily had many stuffed 
animals. Her favorite 
animals were the 
dinosaurs. She had four 
pink dinosaurs, six blue 
dinosaurs, eleven red 
dinosaurs, one purple 
dinosaur, and two green 
dinosaurs. How many 
dinosaurs did Emily have 
in all?

If  = 6, then 7 -  = 
In the number 897,421, what 
digit is in the thousands place?

glove

gluuhv

glovi

glave

Make a pattern.
Start with 41.
Add 8.

, , , , ,

3 8
- 2 8

4 9
- 4 1

7 0
- 1 2

word root di can mean away or apart digress, digression

Choose the word that best completes 
the sentence.
I have to go (to/too) football 
practice after school.

Write the number with 3 
hundreds and 2 
ten-thousands.
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9 - 7 = 1 1 - 9 1 0 - 7 7 1 9 - 2
5 7 6

Use the pieces above to help you fill in the runaway math puzzle.

Write the ordinal number that 
comes after thirty-ninth.

Write a word problem for
5 x 4 = 20.

Which is larger, 0.3 or 0.7?
The factors of 12 are 1 12

Write two odd numbers that 
when added together equal 
the even number 28.

Circle the answer that best completes 
the sentence.
I (may/might) grow up to be the 
president of the United States.

Add the correct end punctuation for 
this sentence.
I am in the fourth grade

4
-

8 3
8 =

3 - 8
4 = 8 - 9 = 9 -

=
3 7 - 8 = 0
= 2 -
4 - 9
- 6
3 - 2 = 6 -

5 - 5 = - 6
1
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If you add 9 to me, the sum is 
67.  What number am I?

Fill in the boxes so each line equals 14.

14

1 x

ô 7

- 1

5 + x

( 12 + ) -

Calculate the product of 5 
and 11.

List the first five multiples of 5.

What is the fourth month with 
30 days?

Which of the following is a simile?

A Jamal is as strong as an ox.

B Alison is so graceful when she 
dances!

C My mother is kind and 
generous.

D all of the above

8 4
+ 2 8

Write the length in inches.

in. 1 2 3 4 5 6

Share 24 equally among 3.
1 0
3 3

+ 2 4

Add one hundred to 291.

How many fourths are in 4?

Write the fraction for 0.44.

What place value does the 9 
have in 98,617?
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201
- 86

931
- 38

361
- 27

24
+ 16

81
+ 79

628
+ 476

996
- 603

324,1
- 245

239
- 911

644
+ 321

52
+ 35

75
+ 33

88
+ 69

111
- 16

16
+ 99

355
+ 725

245
- 811

120,1
- 923

686
+ 391

457
+ 719

011
- 68

24
+ 87

061
- 29

451
- 58

68
+ 74

612,1
- 128

342
+ 551

379,1
- 999

673,1
- 164

534
+ 716

383
+ 58

264
+ 11

912
+ 09

128
- 12

523
- 41

6
+ 7

+ 5

+ 5

32
+

13
- 7

+ 4

- 3

+ 2

72
+

03
-

22
-

51
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6 3 5 8 + 0 = 8 4 9 + 1 4 1 = 7

Use the pieces above to help you fill in the runaway math puzzle.

Which is larger, 2
3 or 1

3 ? What is one-tenth of 50?
9 2

+ 4 1

If K = 7, then what does K + 4 
equal?

There are five cars parked in 
a row exactly the same 
distance from each other.  
The first car is 37 inches from 
the second car.  The first car 
is 74 inches from the third car.
How far is the second car 
from the fifth car?

8 24
Is 29 prime or composite?

Circle the correctly spelled words.
faim, fear, kept

+

=

1

+

+ 2 = 7

4 + 7 +

2 + 2 = 6 = 5

+ 0 +

= 1 + 1 = 9 + 3

8 =

7 4
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Write the shaded part as a decimal. What temperature is four 
degrees below freezing in 
Fahrenheit?

whiet

wheat

whaet

weat

Round the number to the
place value of the BIG number.

438,252,628

Round 154,279 to the nearest 
ten-thousand.

Circle the best estimate for the answer to:
1,991 + 1,666

4,800 3,500 3,400 3,700

The month before me has 
thirty-one days.  The month 
after me has thirty-one days.  
What month am I?

February
December

July
October

Locate where to put the number 395,000
and label the point J.

391,000 411,000

What is the value
of the BIG digit?

1,637,819 9 54

7 28

If you take 38 away from me, 
the difference is 67.  What 
number am I?

What polygon has five sides?
4

x 1 1

word root tract can mean to draw or pull or draw contraction, extract, extraction

Circle the relative adverb.
I can't remember when the last 
time we ate ice cream was!

What root word do these words 
have in common?
bankrupt, rupture, disrupt, interrupt
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16 3 8 4 4 1 9 2 35 8 4 0 6 4 8

36 3 2 4 60 1 0 8 0 18 8 6 4 10 2 8 0

133,  152,  ,   190,  

209,  228,  247,  266,  285
___ ô 9 = 3

Write the greatest possible 
3-digit number using only 2 
different numbers.

917571,  ,   757191,  

571917,  719175,  191757,  

917571,  175719,  757191,  

571917,  719175,  191757,  

917571,  175719

Circle the four numbers 
whose sum equals 39.

    17       18       14       5

    7       9       16       7

If you exchange 100 dimes 
for dollars, then how many 
dollars would you get?

Circle the relative adverb.
Let me know when it is time for us 
to go.
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Draw the missing emojis.  Explain the rule.

Draw the missing emojis.  Explain the rule.
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